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DBAQ/A-15 430

POLITICAL SCIENCE

(Comparative Govt. and Politics of
UK., US.A, China, Switzerland)
Opt. (i)

Time : Three Hours] " [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one question
from each part.
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PART-I ( ¥7-1)

1. Explain the main characteristics of the Modern Approach of
Study of Comparative Politics. 16
e TSI & ST & SMfeh gﬁa’m EARENLGIE]

w1 T i

2. What is Constitution.alism 7 Describe its foundations. 8,8
dfayreR w1 o oY 2?2 e gE oeR w1 Fuie
Hifsal

3. British Constitution is based on Political traditions. Give
arguments in favour of it. 16
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Compare and contrast between British House of Lords and
American Senate as Second Chamber. 8,8
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PART-II ( 9T-11 )

Describe the main features of Swiss’ Party system. How is it
different from China's Party system ? : 8,8
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What is meant by Pressure group ? Describe its role in a
Democratic state. 8,8
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How is the Governor of American state elected ? Discuss his
powers and position. 8,8
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Discuss the socio-economic system of the People's Republic
of China. How has it affected the political system ? 8,8
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PART-III ( WM I-II1 )
Short answer questions.
TR T
Attempt the following in short :
(i) Comparative Government.
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“(ii) Merits of Rigid Constitution.
(iii) Direct Democracy.
(iv) Place of Women in Political process in China.

(4x4=16)
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10. Objective type questions.

TR w9

(i) The nature of Comparative Politics is
(a) Horizontal (b) Vertical
(¢) (a) and (b) both (d) Noneqof the above.
T T # oy #
(%) &ferwr
(T) Fearr
(M (F), (@) A
(W) S & ¥ B 78
(i) Legal or Formal method of Comparative Politics is a
(2) Traditional method
(b) Modern method
(c) Behavioural method -
(d) None of the above.
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(iii)

(iv)

eI TSI 1 B A e fafy @
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() e fafy (M) 7T ¥ *E T
Which is the main source of British Constitution ?
(a) Constituent Assembly

(b) King

(¢) Customs and Conventions

(d) None of these.
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U.S.A. got Independence from England by which treaty ?
(@) Treaty of Jersi

(b) Treaty of Dalas

(c) Treaty of London
(d) Treaty of Versailles.
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(v)

(vi)

Which country is known as 'Home of Direct Democracy'?
(@ USA. (b) UK.

(c) India (d) Switzerland.
FA-T AW ‘T WA wOR W ST 82
(F) @Y () 3.
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‘State Council’ in China has the power of

(a) Legislative

(b) Executive and Administrative
(¢) Judiciary
(d) None of these.
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(vii) Which is the most small unit established in local

government in England ?

(a) Barough (b) County

(¢) District (d) Parish.
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(viii) ‘The American Federation of Labour’ is a X

(a) Political party (b) Family

(c) Pressure group (d)  None of these.
8x2=16
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(F) Toifas < (@) fEr
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